n L] A
WZ16-200SSP T - II - NSSP WAGNER

SEARVTREUEREX (WZ16-200SSP 1T )

[C40024A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



WZ16-200SS5P II - IIT = NSSP

A
WAGNER

WZ16-200SSP 11

Ik -

T - P = AN AL (e IR /Y o/ S B

2

POS b A Y TEAM ik
1 2118067 |HTTF7—V/rvh 1 4,400[SUS3/8F
2 2104003 |=v 7L 2 1,100|R3/8
3 2112060 |H:HE 7T 1 9,900
4 2150063 |=v 7L 1 1,700
5 2112061 HE) =7 —EdEE 1A 1 4,500
6 2240022  |[AR—ASUR -20 1 740|113 ~ 22
7 2510131 |7rm—X— L7 1 45,400[VB-9
8 2150019 |BBETART 40T 427 1 2,000(G1/8M X R1/4M(No.12)
9 2150010  |[FA L ARL—F— 1 3,200(3/4
10 2104496 | F VM VAR T X T — 1 3,800|G3/8F X R3/8M
11 2104213 | TIVRKR—RT 4T 4T 1 1,700{G3/8M X R3/8M
12 2103343 |74— - H 1 2,500|R3/8F
13 2112062 |[E=v7L 1 2,100(3/8 X 80
14 2510016  [AAFAT/LAR - Bs 1 1,800|R3/8
15 2112063  |=7 —fhEF—A 1 4,300(3/8 X 335
16 2112064  |[E/)GtE—A 1 9,000/NO.4G1/8 X 230
17 2112065 |[R—RAT 4T 1 650[No12G1/8
18 2112066  |BARV 7ok 1 1,100|R1/8F X R1/4F
19 2115552  [[EJEt « 3l 1 22,500[ ¢ 60+40MPa
20 2112067 |E=—F vy 1 3,200(3/4
21 2150071 | EER—A 1 10,600(3/8 X 300
22 B ERT 1 SRKA4G30JSX
FEF B AR Al e = IR M A L<IEEN
23 2112068 |E=v7 L 1 910|R1/2 X 45
24 2104949 | /LR 2 3,500|SUS1/2
25 2103038 |=v 7L 1 1,500|R3/8M(BsBM)
26 2112069  |[WkO=>7" )L 1 3,200|G3/4M X R1/2M X 100
27 2104620  |[AAARTILAR 1 5,600|R3/8
28 2150042  |AR—A=w 7L 1 910[3/8 X ¢ 10.5
29 2150062 |7V SRR 2 270
30 2112070  |AANAREH—RA 1 1,100[3/8 X 230
.C40024A

2023.09




WZ16-20055P II - I -

A
NS5P WAGNER

EERVTRUVBER

31

(WZ16-200NSSP III - NSSP)

Te] : o
N N.

—
o
~N
N
/

—

<t
[V

10
~23

11

[C40025A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



- " - A
WZ16-200SS5P II - IIT = NSSP WAGNER

WZ16-20055P 1l

POS oh EA g JEAT ik
1 R T 1 SRKA4G30JSX
FEFMAG AR AR — T BRIAELEEN

2 2112080  [/MEISAARILE 4 270[M8 X 5

3 2112114 (M3 x% 4 150/ ¢ 8

5 2112270 |[Trm—X—/3L 7 1 56,400

10 2104763 |V ohb 1 1,300|R3/8F

11 2118068 |[HTF TV vk 1 8,300|{SUS3/8M

15 2112038 |FLo 757 1 1,300|G3/8

16 2112151 |0 U2 1 150/14.00 X 1.78

20 2103387  |=/LAR 1 1,200{R3/8 « H

21 2103037 |=v 7 v 1 910|R3/8 BSBM

22 2103343 |[74— -+ H 1 2,500

23 2112081  |[RUFyv 1 270(3/8

24 2112082 |UH—r=v )L « Bs 1 4,200{G3/8M X R3/8M X 100
25 2112083 |[E=v7 /L 1 3,200(3/8 X 80BSBM
31 2112084 |7 —EF—A 1 4,900(3/8 X 450

32 2240002  |[AR—ARUR 25 1 730[17 ~ 25

33 2112091  |H@)=7 — P2 E 11 A 1 19,800(3/8 X 450

35 2104262 |BEEKR—AT 4T 4T 1 2,400{G3/8M X R1/4M
40 2103324  |[AARARTILR 1 5,000|R1/2BSBM

41 2112085  |[WK 1 =v7" )L 4,500[1/2 X 115BSBM
42 2112110 |0 U2 1 150/10.82 X 1.78

43 2510144  |F7AARL—F — 1 3,200|1/2

44 2112086  |[RUFyv 1 270(8.5

46 9904409 |NASNSHT T 1 500(R1/2

50 2115555  |[EJJEF - SLiAF 1 13,400( ¢ 63-30MPa

51 2104947 | /L7R SUS1/4 1 3,900

52 2112087 [EE=v7 )L 1 1,300|1/4 X 40BSBM
62 2104620 |[AAAARTILR 1 5,600|R3/8

63 2103483 |[Rh—A=v 7L 1 2,300|/R/3/8 X ¢ 10.5
64 2112088 | —=22Uv 7 2 270 ¢ 12.5

65 2112089  [AA/LRL L 7R—A 1 52010 X ¢ 12 X 260
66 2112090 |[RAUyRFa—7 1 520[ST13 X 200

LC40025A

4
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



n L] A
WZ16-200SSP T - II - NSSP WAGNER

WZ16-200NSSP

POS S il T TEAM ik
1 EERST 1 SRKA4G30JSX
BE/R MG A A 3 =B AELIEEN

2 2112080  |/INEEISFHR LR 4 270[M8 X 5

3 2112114 |3 4 150 ¢ 8

5 2112270 |[7ra—&F— L7 1 56,400

10 2104763 |4 b 1 1,300|R3/8F

11 2118068 |HT7ZV/rvh 1 8,300({SUS3/8M

15 2112038 |FLo 757 1 1,300|G3/8

16 2112151 [0 U7 1 150/14.00 X 1.78

20 2104948  |=/LR 1 3,400|SUS3/8

21 2103037 |=v 7L 1 910|R3/8 BSBM

22 2104902 |7 4— 1 4,300[SUS3/8

23 2112081  |RUFyv 7 1 270(3/8

24 2112082 |UH—r=w )L « Bs 1 4,200|G3/8M X R3/8M X 100
25 2112083 |[E=v7 /L 1 3,200(3/8 X 80BSBM
31 2112093 |=7 —KEF—A 1 7,300(3/8 X 450

32 2240002  |[AR—ARUR 25 1 730[17 ~ 25

33 2112091 |B#h— 77— a1 1 19,800(3/8 X 450

35 2104262 |BEBEHR—AT 4T (LT 1 2,400|G3/8M X R1/4M
40 2103324 |AARARTILR 1 5,000|R1/2BSBM

41 2112085 |k =vy7 v 4,500[1/2 X 115BSBM
42 2112110 |0 VU2 1 150[10.82 X 1.78

43 2510144 | F7AL AL —F— 1 3,200(1/2

44 2112086  |[RUF¥>7 1 270|8.5

46 9904409 |[NANRSTT TS 1 500(R1/2

50 2115555  |[EJJEF « LA 1 13,400| ¢ 63+30MPa

51 2104947 | /LR SUS1/4 1 3,900

52 2112087 [EE=v7)L 1 1,300{1/4 X 40BSBM
62 2104620 |[AARART/LR 1 5,600|R3/8

63 2103483 |HR—A=v 7L 1 2,300{R/3/8 X ¢ 10.5
64 2112094 |[R—=22Vo7 2 270

65 2112095 |[AANKL 7R - & 1 1,700 ¢ 8 X ¢ 13 X 230
66 2112245 |[RAUyhFa—7 1 400[ST-13 X 150

LC40038A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



- " - A
WZ16-2005S5P II - I - NSSP WAGNER

EIERT [SRKA4G 30JSX](PN 2112001/ BB AT )
WZ16-200SSP II + I - NSSP 4k

6 IC40026A
Ak - ik - k512 T ERKEE T2 ERBYET, 2023.09



WZ16-200SS5P II - IIT = NSSP

A
WAGNER

POS RS B B TEA ik
1 2112109 |0V 6 150[17.86 X 2.62
2 2112003 |\ T TS 6 2,700
3 2112004 |77 &k 6 2,600
4 2112125 |0V 6 150[15.54 X 2.62
5 2112006 |77/ 2 1,300(G1/4
6 2112110 |0V 2 150[10.82 X 1.78
11 2112008 |HHR—RJo 3 1,600
12 2112009 |&JET—/1 3 5,200
13 2112010 |2 — YT AF— 3 3,900
14 2112011 |O Vv 3 270
15 2112012 |[IKJE—v 3 2,700
16 2112013  |A AN —)L 3 2,300
17 2112014 |78 7R VR 4 150
18 2112015 |mo KRB 8 — 1 9,100

18A 2112016 |42 0.1 mm 400

2112017  |f#-2 0.2 mm 400
19 2112018 |O Vv 1 650
20 2112019 |7V 1 5,200[30304
21 2112020 |7Zo0/r—A 1 58,400
22 2112021 | TAYT AT A7 1 3,100
23 2112022 |77 % —Fvh 3 650
24 2112023 |Uviy— 3 270(8 X 13 X 0.5
25 2112024 | 7T Pv— 3 10,100| ¢ 18
26 2112025 |ARUH—VU 3 350
27 2112141 |0 VY 3 150[4.48 X 1.78

28A 2112027 |77V —HAR 3 13,500

28C 2112028 |\ I 7TV 3 520
29 2112029 |HAREV 3 1,100
30 2112030 |=rmvh 3 17,000
31 2112031 |AFARI 2 1 400
32 2112032 |AANY AT TR 1 650
33 2112146 |0V 1 270[20.24 X 2.62
34 2112034 | H Aok 1 2,000
35 2112035  |#&ERA1 /N — 1 8,400
36 2112036 |54 7XfAR LR 6 150[M5 X 18
42 2112151 |0V 2 150[14.00 X 1.78
43 2112038 |RKLo7 o7 1 1,300|G3/8
46 2112039 |77 VR IVE 4 400|M8 X 20
47 2112154 |0V 1 270[17.5 X 2.00
48 2112041 |75 1 2,200{G1/2
49 2112042 |ARoT~vR 1 150,000
50 2112043 | /S8R LR 8 270
51 2112044 |Vt y— 8 270
59 2112045 |77 7 %7k 1 56,700
60 2112046 |7V 1 6,400
61 2112047 |AANT—)L 1 2,300
62 2112048 |0V 1 650
63 2112049 |7T0Y 1 47,000|F22

- CCZ0026A
AR - 03 - M IE T ERKEETH2HELRHVET, 2023.09



- " - A
WZ16-200SS5P II - IIT = NSSP WAGNER

7oa—4—/N L0
WZ16-200SSP 1T FH [VB9J(PN 2510131)

[C40009A

8
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



WZ16-200SS5P II - IIT = NSSP

A
WAGNER

POS T fnh B TEAM ik
1 2040045 |/ XA /RARa R H— 1 3,900

2 2152046 OV 20 270(18.77 X 1.78
3 2040047  |/NfaT b 1 710/M6

4 2040048 [Ty — 10 9,600

5 2152049 OV 10 400[15.6 X 1.78
6 2040050 [>—F 10 3,400

7 2040051  |[AAL—H— 1 2,100

8 2152052 OV 10 270l4 X 1

9 2040053 |[E"ARy 1 14,700

10 2152054 |\ o T TV 20 910[11.4 X 15.9
11 2152055 (O Vv 10 150{10.77 X 2.62
12 2040056 |75 1 1,600

13 2040057 |[2—Uviy 1 400

14 2040058 |7 1 650

15 2040059 |RTF ¢ 1 22,400

16 2040060 (AU 1 3,200

17 2040061 |V y— 1 2,700

19 2040063 |/ fAF vk 1 400|M8 7Y 1k D fF
20 2152064 |0V 10 520(6 X 3

21 2040065 |F w737 1 3,400

22 2040066 (AU 1 400

23 2040067 |7 hLvhaxrsH 1 4,300

24 2152068 |\ o7 TV 10 780|7.6 X 2.62
26 2040070 |Fyv 1 2,600

27 2040071 |[AZYa— 1 270/M4 X 10

28 2040072  |[FHES 1 5,000

29 2040073 |V 1 4,200

30 2040074  |NfAFIED AL 1 400[M5 X 6

31 2040075 | TF vk 1 270

2152080 U/\C’T_—ﬂeo/]\ Q 16,900 Pos.2,4,5,6,8,10,11,20,24

Ik -

T - P = AN AL (e IR /Y o/ S B

9

LC40009A

2023.09




- " - A
WZ16-200SS5P II - IIT = NSSP WAGNER

7oa—4—/N L0
W7Z16-200SSP TII + NSSP #3& (PN 2112270)

=

\

-—

N

w

PN

TR

~

0

8
9
1
|

[C40027A

fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



n L] A
WZ16-200SSP T - II - NSSP WAGNER

POS i B = TEAM ik
1 2112271 |75 1 400

2 9900318 |/SF /AR 1 360[M8 X 20

3 2112272 |NAF vk 1 150|M8

4 2112273 |k~ 1 910

5 2112274 |v°v 1 650

6 2112275 |FA¥EF vk 1 16,400

7 2112276 | ATV T HAR 1 14,700

8 2112277 | ATV 7L —h 1 5,800

9 2112278 |JEJJFHEER TV 1 2,000

10 2112279 |[AFT AR —] 1 1,300

11 2112280 | 1 1,600

12 2112281 |7/ 3—E AR 1 7,500

13 2112282 |0 Vv 1 150

14 2112283 |\ 77V 1 270

15 2112284 |0V 1 270

16 2112285 |F =73V 1 3,500

17 2112286 |F =/ NV T ATV 1 780

18 2112154 |0 Vv 1 270[17.5 X 2.00
19 2112287 | 7O LT T 1 4,300

20 2112288 |2—Lb 3w 1 910

21 2112289 |7V RTF 4 1 17,700

22 2112290 |\ 7TV 2 520

23 2112141 [0 V2 2 150(4.48 X 1.78
24 2112291 [ —/L ¥wF 1 2,300

25 2112292 |[@—U—E Rk 1 12,500

26 2112197 |0V 1 150({17.17 X 1.78
27 2112293 |77 —h 1 8,300

35 2112294 M A7 40747 1 5,200

LC40027A

11
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.09



WZ16-200SS5P II - IIT = NSSP

A
WAGNER

%« RKIAR—R

WZ16-200SSP 1T (G3/4 + PN 2116160)
WZ16-200SSP III + NSSP (G1/2 « PN 2116150)

fIAk - dn - MRS T ERKER T 2ENHYET,

2
ID40002B
POS i 4 $og TEA ik
1 2116160  |[AKF—A 1 14,700(G3/4 X 3m » O V7' f}
2116150  |[WhAkKF—A 1 10,000|G1/2 X 3m » O U7 f}
2 2116023 (O VL2 (1) 270[P16 - G3/4
2116021 (O V> (1) 270[P12.5 + G1/2
3 2116151 | HAkKAR—A 1 5,900[(G3/8 X 3m + O UL 7 fF
4 2116022 OV (1) 270[1A - 6 X 3
5 2116320 |[ARL—F— - [ 1 4,200|G3/4F
L.D40006B
12
2023.09




